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Section-A  5 x 1 = 5

Co-operative society can be started

(a) Only in villages  (b) In towns and villages  (c) Only in cities  (d) Only in state head quarters

The most suitable form of organisation for operating defence industries is

(a) Government company  (b) Public corporation  (c) Departmental organisation  (d) Board organisation

The share capital of the government company must not be less than

(a) 75%  (b) 60%  (c) 95%  (d) 51%

A multinational company is also known as

(a) Global giant  (b) Partnership  (c) Co-operative society  (d) Public corporation

Membership by birth is main feature in

(a) Sole trader  (b) Joint hindu family buissness  (c) Co-operative salary  (d) Partnership

Section-B 5 x 1 = 5

Partners share profits and losses _______________

In India registration of partnership is _____________

A company is regarded as a __________________

Tamilnadu Electricity Board is the example of ____________

Government policy is also favourable towards _____________

Section-C 10 x 4 = 40

What do you mean by co-ordination?

What do you understand by co-operation ?

Define organisation

What is scalar principle?

What is sole trading business?

Explain the term ‘partnership’ (or) Define Partnership

Who is a KARTA?

What is public corporation?

(OR)

State the meaning of Board organisation

Give five examples of Multinational companies
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